
 0" 

 32" 

 73" 

 20" 

 61" 

 0" 
 POSITION OF GUY 9" 

 POSITION OF GUY 17" 
5

2

7

15
10

3

9

141718
TYPICAL

161718

4

6

8

1 10

12 11

TYPICAL

ITEM DESCRIPTION HENDRIX SUPPLIED QTY

18 SQUARE WASHER, 2 1/4" X 2 
1/4" X 3/16" (MIN) No 20

17 SQUARE NUT, 5/8" No 14
16 MACHINE BOLT, 3/4" X REQ. 

LENGTH No 8

15 EYE PLATE, HENDRIX TYPE 
DEAD-END-TEE-01 No 4

14 EYE BOLT, 3/4" X REQ. LENGTH No 6

13
GROUND WIRE STAPLE, 
COPPER CLAD OR 
GALVANIZED

No AS 
REQ

12
GROUND WIRE, SOFT DRAWN 
COPPER, SOLID #6 AWG 
(MIN)

No AS 
REQ

11 CONNECTOR, SIZE AND TYPE 
AS REQ. No AS 

REQ
10 FIBERGLASS STRAIN 

INSULATOR No 2

9 INSULATOR, HENDRIX HPI-
15VTP Yes 6

8 PRESHAPED CONDUCTOR 
GRIP, COATED Yes 6

7 THIMBLE CLEVIS, HENDRIX 
TYPE HDTC Yes 2

6 THIMBLE CLEVIS, HENDRIX 
TYPE TC Yes 6

5 PRESHAPED MESSENGER GRIP Yes 2
4 INSULATOR, DEAD END TYPE 

DEINS15 Yes 6

3 INSULATOR PIN, HENDRIX TYPE 
LSP-1 Yes 6

2
HENDRIX ARIAL CABLE, SIZE 
AND VOLTAGE RATING AS 
REQ.

Yes AS 
REQ

1 MESSENGER (SIZE AND TYPE 
AS REQ.) Yes AS 

REQ

01/09/2017

DRAWING NO.

N/A

DESIGN PARAMETERS

15Kv
LINE ANGLE:

REV

AC1331-01 0

TITLE

DATE

BUCK ARM DOUBLE DEAD-END TRANSITION 
SPACER CABLE TO SPACER CABLE

Drawn By

M. Sokolskiy


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4


